Teng Hui
Notes for Thursday Sept. 28

Normal Distribution

The graph for normal distribution is perfectly symmetrical.

Problems involving normal distribution involve the chart for z-components and corresponding areas.

The formula used is Zv = (V – mean) / standard deviation, this formula is in the formula packet

Problems we did in class:

P(Z < 0.89) = 0.8133

P(Z < 0.5) = 0.6915

P(Z < -0.6) = 1 – P(Z < 0.6) = 0.2743

Find P(Z < -0.3 or Z > o.7):

1 – P(Z < 0.3) = 0. 3821

1 – P(Z > 0.7) = 0.242

0.3821 + 0.242 = 0.6241

Find P(abs(Z) < 0.4):

P(Z < 0.4) – P(Z < -0.4) = 0.3108

Given average = 67 and standard deviation = 6, find P(H>72)

Z72 = (72 – 67) / 6

P(H > 72) = P (Z > 5/6)

= 1 – P(z < 5/6)

= 1 – 0.7967

= 0.2033

P(60 < H < 69)

Z69 = (69 – 67) / 6

= P(Z<0.3) = 0.6293

Z60 = (60 – 67) / 6

= P(Z<-1.2)

P(60<H) = 1 – P(Z<-1.2) = 1.1151

0.6293 – 0.1151 = 0.5142

